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FA SEUFL
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sS2u=s 3,208,270 3,218,264 210,014
= 20,844 20,844 0
[ 203,000 203,000 0
Al 168,912 161,450 7,462
- 2,806,931 2,824,407 A17,476
= 8,583 8,583 0
ANy 22He 23t 312,939 312,627 312
-8 ERES 312,939 312,627 312
-8 8% 134,757 134,445 312
202 04| 3,432 3,120 312
01 2L A b 3,432 3,120 312
OOHI(AIZEE MDA OFS)
ZE22,0008 %132/~ 128 3,432 3,120 312
w=s HE X2 932,594 944,889 A12,295
Al 127,000 127,000 0
- 805,594 817,889 12,295
St W= Jdl X3 932,594 944,889 N12,295
Al 127,000 127,000 0
T 805,594 817,889 A12,295
=7 s+ 24 49,365 61,660 A12,295
201 2= 36,045 48,340 A12,295
03 A2 I 29,705 42,000 N12,295
O=%(talk talk)st S0{HZ
g3 27,705,000 27,705 40,000 A12,295
gddstsHN 2= 557,701 561,139 6,562
= 14,175 14,175 0
Al 28,600 22,038 6,562
- 514,926 514,926 0
Sdus 228 2 118,762 112,200 6,562
= 14,175 14,175 0
Al 13,600 7,038 6,562
T 90,987 90,987 0
HERZZ2Hs Z28 29 6,562 0 6,562
Al 6,562 0 6,562
201 et 3| 6,250 0 6,250
Al 6,250 0 6,250
01 AtR2telHl 4,500 0 4,500
Ogdsts HEXT 2208 29
4,500,000 4,500 0 4,500
Al 4,500 4,500
03 A= SHI 1,750 1,750
Ogdsts sotel storg
1,750,000& 1,750 1,750
Al 1,750 0 1,750
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O AR HojatEs S0t NI
312,000 312 0 312
Al 312 0 312
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=2 6,669 6,669 0
Al 13,312 12,412 900
2 187,260 187,260
= 8,583 8,583
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02 JIEt= 4 117,029 114,633 2,3%
OAIZHHERRIZDI M O3 43,789 41,393 2,3%
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Jl2zyl 36,953 45,009 18,056
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201 Lete | 9,941 9,561 380
01 Al22t2|] 9,941 9,561 380
ORAN2Y Jl242H|
B (279,000 *153*50%)+(279,0002 * 16
*50%) 4,325 4,185 140
Ol 1248 S|
BE (8,000 +341x14H+62 )+(8,0002 %5
Alx 15 +62 ) 5,616 5,376 240
202 04| 23,712 32,448 18,736
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